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BACHELOR’S DEGREE PROGRAMME (BDP)
Term-End Examination
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ELECTIVE COURSE : ECONOMICS

EEC-12 : INDIAN ECONOMIC DEVELOPMENT
SINCE INDEPENDENCE

Time : 8 hours Maximum Marks : 100
(Weightage 70%)

Note: Attempt questions from each section as per
instructions given under each section.

SECTION A

Attempt any two questions from this section in about
500 words each. 2x20=40

1. State the various uses of forest resources. What
are the basic differences in the National Forest
Policy, 1952 and that of 1988 ? 20

2. What is regional imbalance ? Based on per
capita income differences and poverty ratio,
discuss the problems of regional imbalance

across Indian states. 20
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3. What do you mean by inflation ? What are its
consequences ? Which policy measures would

you like to suggest to control inflation ?

4. State the different methods to measure economic
growth. Give an account of growth profile of
Indian economy during 1950 — 51 to 1990 — 91.
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SECTION B

Answer any four questions from this section in about

250 words each.

5.

6.

8.

9.

10.

What is meant by industrial sickness ?
Explain the factors responsible for sickness in
small-scale units.

How does training and skill development
help in reducing unemployment  and
under-employment ? Explain.

State the importance of agriculture in Indian
economy.

What is liberalisation ? State its advantages.

What do you mean by ‘industrial relations’ ?
How does industrial conflict affect the workers.?

What is the difference between balance of trade
and balance of payment ? Evaluate the various
steps taken by the Indian government to solve
the balance of payment difficulty.

4x12=48

12

12

12

12

12
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SECTION C

Answer all the questions from this section in about
100 words each. 2x6=12

11. Distinguish between any fwo of the following : 2x3=6
(a) Administered prices and Market prices
(b) Marginal holdings and Small holdings
(¢) Economic growth and Economic development
(d) Social infrastructure and  Economic
infrastructure
12. Write short notes on any fwo of the following :
2x3=6
(a) Terms of trade
(b) Labour movement
(¢) Elasticity of employment
(d) Import substitution
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Fafy & wgfg &1 femo A
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